TWGHs Lo Kon Ting Memorial College
S2 Mathematics 2020 — 2021
STEM Worksheet -—- Creating a Model of Pvthagoras’ Theorem
Worksheet 2

Name: Class: ( ) Group:  Date:

Pythagsoras’ Theorem

In AABC,if ZC = 90", then a* +b° = c2.

Proof of Pythageras’ Theorem by Rearrangement

- Figure 2.1(a) shows a square with 4 right-gngled triangles and 2 squares of side a and b
respectively.

- Figure 2.1(b) shows a square with 4 right-angled triangles and a square of side c.
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Figure 2.1(a) Figure 2.1(b)

Based on the figures above, how can we prove that o’ -+ pr=c? 9
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Proof of Pytharoras’ Theorem by Similar Triangles
Figure 2.2 shows 3 right-angled triangles (namely AABC, AADB and ABDC).
Suppose ZACB =x.
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{(a) Show that ZABD = x.
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(b} Show that AABC ~ AADB.
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(¢) Also, it is given that AASL ~ ABDC. Show that AB? + BC? = AC2

Longder A RBC ~h AOR
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